BAREHRER (BAL: 51/1\—=Y)

RBENRE By BRERERE BARHAEHRE
~150, 000 0% 0 0
~300, 000 5% 7,500 7,500
~500, 000 10% 20, 000 27, 500
~750, 000 15% 37, 500 65, 000

~1, 000, 000 20% 50, 000 115, 000
~2, 000, 000 25% 250, 000 365, 000
~5, 000, 000 30% 900, 000 1, 265, 000
5, 000, 001~ 35% - -

BB LT DOFEHEEAE

BRENREN20H/N—YDIHE
&I\ 2,000,000/ X—Y(CxF L TDRAERDY 365, 000/N—Y (LERRARSTAAEHESR)

UMD, (2,500,000 - 2,000,000 x 30% = 150, 000/X—Y

ZD%ZRLT, 365,000 + 150,000 = [515,000/\—Y] HEAEREGZUEXT,

BRERENRANM20HN—YDHE

&I 1,000, 000/N—Y(Cxt L TDRAERD, 115, 000N —Y (LEEEARBHAAERESR)

WD (1,200,000 - 1,000,000) x 25% = 50,000/X—Y

ZD%RL T, 115,000 + 50,000 = [165,000/N\—"Y] DFABERLEEUET,

BEYREVT0AN—YDHE

&', 500,000/N—Y(Cxt L TOPREREM, 27, 500X— (LEERARETFAEHRESR)

BEUMH, (750,000 - 500, 000) x 15% = 37, 500/3—Y

ZD%RBL T, 27,500 + 37,500 = [65,000/N\—"Y] DEAGREETYET,




